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Which of thé following does not belong
to as four pillars of sustainability ?

(A) Human
(B) Social
(Cy  Education
(D)  Environment

Ozone gas is concentrated in :
(A) Between 15-20 km.
(B) Between 15 =30 km.
(C) Between 30— 50 km.
(D) Between 10 -40 km.

Who has written the book *Geographica’
(Geography) ?

(A) Strabo
(B) Arstotle
(C) Jean Bodin
(D) Karl Ritter

Which region is called as ‘Biodiversity
Reserve’ ?

(A) Warm tropical region
(B) Monsoon region

(C) Subpolar region

(D) Cold temperate region
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In  which sphere

) Qo ~atese] P
atmosphere’s mass is located

(A)  Thermosphere

(B) lonosphere

(C) Mesosphere

(D) Troposphere

Who for the first time use the word 6.

"Hot spot™ in biodiversity ?

(A) E.A. Norse

(B) Transley

(C) Myre

(D) Walter G. Ronson

Energy flow in an ecosystem is always :
(A) Cyclic

(B)  Unidirectional

(C) Reversible

(D) Multidirectional

(4)
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“Nature is never more than an advisor.”™ 8.
Who gave this statement

(A) Blache
(B) Brunhes
(C) Martonne
Reclus

(D)

Which of the following region iscalled 9.

as ‘Land of Midnight Sun™ ?
(A) TaigaRegion
(B) TundraRegion

(C) Desert Region

(D) South American Region

Which of the following main pollutantis  10.

released by motor vehicles ?
(A) Carbon dioxide
(B) Carbon monooxide

(C) Chlorofluoro carbon

(D) Nitrogen oxide

(3)
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Who said this that “Location on the I,

globe is the real key to geography™?

(A)  Huntington
(B) Vidal-de-1a Blache
(C) Jean Bodin
(D) Karl Ritter

Whose statement is. “Plains are those 12,
areas where human's transportation.
commerce and political all three are

highly developed 2

(A) Hartshorne

(B) Aristotle

(C)  Kumari Semple
(D) Kirchhoff

Which of the following is not correctly 13,

matched ?

(A) North America - Prairies
(B) Australia - Llanos
(C) South America— Pampas
(D) Siberia - Steppes

Who has given the statement that. 14

“History of the soil reflects the history of
human civilization and individual human’s
education begins from its soil itself ™ ?

(A) Jean Brunhes

(B) W.M. Davis
(C)  Albert Demangeon
(D) Wilkaux

(6)
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Out of the following, the shape of India
15
(A) lragmented
(3) Compact
(C)y Longitudinal
(1)) None ofthe above

Which of the following state of India is
not practising/engaged in Jhuming

(Shifting) cultivation ?

(A) Mizoram

(B) Madhya Pradesh
(C) Punjab

(D) Rajasthan

Which of the following country is having

an insular situation ?

(A) SrilLanka

(B) India
(C) Italy
(D) Malaysia

The dynamic flow process of movement
of human beings, thoughts and goods
from one place to another is called as :
(A} Areal differentiation

(B) Spatial interaction
(C) Neo-determinism

(D) Spatial distribution

1S-15020 (Q)
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Who has written this while defining
Geography that, “Geography is the
knowledge of Earth’s arcas and these
are different from each other™ 2

(A)
(B)
(C)
(D)

Peter Haggett

Von Humboldt

Stamp

Alfred Hettner

In which of the following geographers

period ‘Dualism in Geography’ was

started 7 https://www.ccsustudy.com

(A) Vidal-de-la Blach-Hettner-
Demangeon

(B)

()

Huntington-Semple-Hartshorne
Von  Humboldt-Karl

Friedrich Ratzel

Ritter-
(D) Richthofen-Hettner-Penck
The book ‘Erdkunde’ was written by :

(A) Humboldt

(B) KarlRitter
(C) ElisReclus

(D) Strabo

Who has promote Dualism while
differentiating areas concerned with
physical and human geography in his
book *Geographia Generalis® ?

(A)
(B) Immanuel Kant
(C) Von Humboldt

(D)

Varenius

Reclus

(8)
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Which of the following book. Friedrich
Ratzel has emphasize more on the study
ol interrelationship between man and

cnvironment ?

(A) Physiography

(3)  Anthropogeography

(C)y La lerre

(D) Cosmos

Who said that, “Human Geography is

the changing relationship between the
unstable earth and the unresting man” ?
(A) Huntington

(B) Friedrich Ratzel

(C'y Herbertson

(D) Allen Churchill Semple
considered

Who ‘Systematic

Geography” as ‘General Geography’
and "Regional Geography’ as ‘Special
Geography® ?

(A) Von Humboldt

(B) Karl Ritter

(C) Varenius

(D) F.Richthofen
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26. Whose thoughts were that “Asian’s  20. fras a9 B “afSrr ooy
residing in warm areas are intelligent and % faard aﬁ?ﬂﬁ B %’, % ey
talented. but locks in bravery and FA 2d & Bred o A 3 \
courage due to which they remains wae?
slaves fora longer period™ ? (A) S
(A) Jenophen
(B) Anstotle

(C) Herodotus

(D) Al-Masudi (P -G
27. Who was the founder of Neo- 27 a3-MsgTarR (qzr-ﬁuﬁirm) P TS
determinism ? HT 7
(A) G Taylor (A) . TAT
(B) Blache (B) =191
(C) Hettner (C) AT
(D) Hartshorne (D) BTedH
28.  “Survival of the fittest’ is the creation of : 28, OFEEH # IETSEar Tep TRl I
(A) Ratzel 87
(B) Thomas Malthus (A)
_ (B) 9MMd HerH
(C) Charles Darwin ©) EI'IF\'#?{T%:{
(D) Huntington (D) &R
29. Who said that, “Environmentinitselfisa 29, e a1 a1 w1 o B “‘ammEw
H
meaningless sentence, environment mmﬁmaqw{% R
}
existence without humans seems 3
AT H P i T B

impossible™?

(A) Hartshorne (A) weam

(B) Wolfgang Hartake (B) AHTT eLeH

(C) Geddes (C) N

(D) Spate D) e
US-15020 (Q) (10)
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To which of the following community,

Vidal-de-la Blache  possibilitic

ideology was connected ?

(A)  American Community

(B)  French Community

(C) German Community

(D) Britain Community

When “severe drought” conditions
occurs ?
(A) When rainfall is 25% of normal or
less than this

(B)  When rainfall 1s 40% of normal or

less than this
(C) When rainfall is 50% of normal or
less than this
(D) When rainfall is 70% of normal or

less than this

Which of the following is not a natural

reason due to which environmental
degradation takes place ?

(A) Earthquake
(B) Forest destruction
(C) Cyclone

(D) Volcano

30.

(11)
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Which of the following occurs due to

“forest destruction” ?

(A) Increase inramnfall

(B) Decrease in warmth or heat

(C) Sotl erosion

(D) Increase in moisture

What percentage of India’s area

(approx.) comes under soil erosion ?
(A)
(B)
(D) 33%

Which of the following is used largely in
Refrigerator. Air-conditioners. Hair

Dryer. Spray cans ete. ?

(A)  Chlorofluoro carbons
(B) Carbon dioxide
(C) Hydrocarbons

(D) Nitrogen
Which of the following pollution results
in growth of cancer ?

(A) Carbon dioxide

(B)

Radioactive radiations
(C)

Carbon monooxide

(D) Chlorofluoro carbons

https://www.ccsustudy.com
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in which year ‘forest policy’ was
introduced in India ?

(A) 1850

(B) 1857

(C) 1894

(D) 1950

What percent of land is to be covered
with forests to maintain environmental
(ecological) balance ?

(A) 23%

(B) 33%

(C) 40%

(D) 43%

What percent of India’s land area is

affected due to water erosion ?

(A) 15%

(B) 25%

(C) 35%

(D) 45%

Where Central Arid Zone Research

Institute in India is located ?
(A) Jodhpur

(B) Rampur

(C) Ahmedabad

(D) Bengaluru

37. GG 39 ¥ ‘@9 M F9 @ AL R
e
(A) 1850
(B) 1857
(C) 1894
(D) 1950

38, wateeer (aikfefis) dge & @
3 fo Reer gfveE oI 9X a9 B
e ?
(A) 23%
By 33%
(C) 40%
D) 43%

39. 9RA 39 H fhaq gfawd &%d S
YA § ywifag 2 7

(A) 15%
(B) 25%
(C) 35%
(D) 45%

40. ART ¥ DEY T6RG MY GRIN Bl
oY forg B ?

RS L
B) TG
(C) SHAEHaE=

(D) FI6

(13)
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In which of the following country

“Atacama Desert” s located ?

(A} Braal
By Cuba
(C) Chile
(D} Argentina

Australia’s Kalgoorlie and Coolgardie
world’s famous place produces :

(A)  Mineral oil
(B)  Gold mines
(C) Salt
(D)  Gwano fertilizer

Which of the following largely affected
the world’s famous Taj Mahal in Agra?
(A) Carbon dioxide
(B) Carbon monooxide
(C) Hydrocarbons

(1)  Sulphur dioxide

In which year ‘Pollution Prevention and

Control Act’ in India was introduced ?

(A) 1961
(B)y 1971
(C) 1981
(D) 1991

https://www.ccsustudy.com
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Which of the following pollut : <
i N | g potlution g 45, mﬁ’l’ﬂ'[ fT‘T’ Fle:[ ff fl F‘.]—TJ:[ qeq97 %
responsible i Spreadimg out of 3 -
raundice disease™
(A Water pollution ) ST &
(B Aarpollution (B) g g
(O Radioactive pollution (C) feAnnd R ]
(I Sohd waste Huti
Cpo ]lll!ilﬂ ”}) a-g Qqq-fiﬂ-';: WTE
nwhich of the following vear * Wy .. |
- ¢ il. (m\m:}uu Water 46, AT ¥ ‘o1 PECE a3
aventron  ang ‘ontrol Act’ a8 ’ ok S
| | ontrol  Act’ was =T s feg ot § ofvg fear
miroduced in Indija ©
L
Ay 1964
(A) 1964
By 197
\B) 4 (Br 1974
(C) 1981 (C) 1981
i) 1984 (D) 1984
I which year. Union Ministry of 47, Wﬁ%ﬁﬁw,ﬁaiﬁﬂﬂ
EFnvironment., Forest and Climate URaay 2™ 9Aed A 3 oI
Change released the Solid Waste U gt BEm SIn| & ?
Management Rules in India ?
(A) 2012
(A)y 2012
"} /
(B) 2014 (B) 2014
() 2016 (€) 2016
(D) 2018 (D) 2018
In urban India what percentage of solid 48, HI{d &2 = A G 2
waste is treated properly ? R el § il
| e @ 2
(A) 20%
(A) 20%
(B) 25% -
(B) 25%
(C)y 30% (C) 30%
(D) 35% (D) 35%
S-15020 (Q) (19)
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Average waste per person per day in
Indiais:

(A) 300 ¢m
(13) 450 em
(C) S10¢em

(D) 600 ¢m

In  what humans

Wavs Causcs
environmental degradation ?
(A)

(B)

Overpopulation

Burning fossil fuels
(C)
(D)

Deforestation

All of the above

Under what Act, responsibility of 31,

environment conservation has been
given to states and its citizens ?

(A) 40Aand 42 A

40A and 45 A

48 Aand 51 A

50 A and 55 A

(B)
(C)
(D)
Who

L
-

has the

given statement.
“Environmental Management is a system
which will predict the problems in
advance related to conservation of
environment and resources and save
them accordingly™ ?

(A)
(B)
(C)
(D) Savindra Singh

D. Thompson
C. J. Barrow

D. Meadows

(16)
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What type of problems are faced by
Developing  Nations

53.

as far

as

cnvironmental  management

is
concerned?

(A) Poverty

(B) Rapid increase of population

(C) Flaws in implementation of
environmental laws

(D) All of the above

To which area Appiko Movement’ is

related ?

54.

(A) Himalayan Region

(B) Palni and Nilgiri Mountains Areas
(C) Bastar Plateau

(D) North-East India

Who has been given the credit of

spreading public awareness regarding
water conservation in Rajasthan’s
Villages ?

(A) Medha Patkar

(B) AnnaHazare

(C) Rajendra Singh

(D) Baba Amte

In which year “United Nation’s
Environmental

Programme” was

introduced ?
(A) 1972
(B) 1982
(C) 1992
(D) 2002

-15020 (Q) (17)
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57.  Where is the headquarter of ‘International
Union for Conservation of Nature’
located ?

(A) London
(B) Switzerland
(C)  Stockholm
(D) Sydney
58. Where is the headquarter of ‘Green
Peace International® located ?
(A) Gland
(B) Virginia
(C) Cambridge
(D) Amsterdam
59.  Where is the headquarter of *National
Green Tribunal’ located ?
(A) Lucknow
(B) Bhopal
(C) Delhi
(D) Chennai
60. When ‘Earth Day’ is celebrated ?
(A) 5thJune
(B) 11thJuly
(C) 22nd April
(D)
61. ‘Agenda2l’ isrelated to:

16th September

(A) Sustainable Development
(B) Population Policy
(C)  Environment Management

(D) Bio-conservation

US-15020 (Q)
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(o which of the following India’s State ~ 62.

-ilent Valley Movement’ is associated 7
(&) Uttarakhand

(131 Kerala

('} Mizoram

(1)) Sikkim

Which one of the following is not  63.

correctly matched ?

(A) Forest Research Institute -
Dehradun

(13)  Arid Forest Research Institute —
Jodhpur

(C) Rain Forest Research Institute —
Shimla

(D) Salim Ali Center for Ornithology

and Natural History — Coimbatore

1. When is ‘World’s Environment Day’is ¢4,

celebrated ?
(A) 11thJuly
(B) 8thJune
(C') 22nd April

(D) 5th June

. Who amongst the following used the 5.

word ‘Ecosystem” for the first time in
the year 1935 ?

(A)  Odum

(B) A.G. Tansley

(C) Fosberg

(D) Lindman

$-15020 (Q) (19)
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66.  What type of consumerisa ‘Cow’ ?
(A) Primary consumer
(B3)  Secondary consumer
(C) Tertiary consumer
(D) lTopconsumer
67.  What partof food percentage in animals

1s used in body building ?

10%

20%

(C)y 50%

(D) 80%

68.  Which of the following are responsible
for maintaining balance in atmosphere ?
(A) Producer

(B) Producer and consumer

(C) Decomposer

(D) Producer, consumer and

decomposer

69. Who said this, “Ganga from its origin

up to'sea, from its past to its present,

reflects the story of Indian society” ?
(A) Mahatma Gandhi

(B) Sundar Lal Bahuguna

(@)

Pandit Jawahar Lal Nehru

(D) Baba Ramdev
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e BRG TEI # TR § 7
() TR SueERT
(B faias o
(C) gArF®s TR
(D) @y IR

STegaft &1 A e i
i & fmtor & ug@r @ar B 7

(A) 10%
(B) 20%
(C) 50%
D) 80%

Frr & & agroesd H e
g aqar 8 7

(A)
(B)
(©)

UP) TWUEH, ITED T SIS

BT AR 6, AT § AT et
AT T9 ) arer B ?

(A) HE T TR

(B) G Tgem

(C) ufed Samvea Yo
(D) <& IRy



vhich yvear “Ganga Action Plan’ was
rroduced ?
1980
| 384
tO9()
1994
which year “Ganga River Basin

vuthortty” was formed ?

y 01
005
009

)y 2015

v ho has given the statement that, “We
!l replace or restore the original purity
fGanga again™ ?
\)  Sri Rajiv Gandhi
3} Sri Sanjay Gandhi
'y Sri Rahul Gandhi
1)) Sri Narendra Modi
In which vyear ‘Tiger Project’” was
iroduced ?
1963
1973
1979
1984
which state “Orang Tiger Reserve’ is
West Bengal
Arunachal Pradesh
Mizoram

1)} Assam

15020 (Q) (21)

70. T 0 Ao Beg ad § dA H R
(A) 1980
B 1984
(Cy 1990

(D) 1994
7). TS T E AR g H e

w4 far w7
4 2001
(¥ 2005
(C) 2009
(D) 2015

72. Yz W # oEE ged B A
gferenfid &7 1 98 F99 e B
(A) i Toftg i
B) i dom M
(C) = Tge Wt
(D) &t T 9

73. ‘9 g e as F @6 gs ot ?

(A) 1963
@7 1973
(C) 1979
(D) 1984

74. ‘SO 9 9@ R s § Red
&7
(A) 9i¥ed S
B STEUEE WeW
(€) A
(D) 3EH
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75, Which of the following state iscalledas 75, 49 Fa e

“liger State™? Fel Sl & 7
AT West Bengal (A Ti9EH Fd
Ry Rajasthan (13) ¥
(Cy Madhya Pradesh (L4 " TR
(1Y Karnataka (D) FATeH
76, Which of the following is not correctly ~ 76.  f1 & T B HE
matched 31 )
() EIZEl-rATER Ay
(A)  Dandeli-Anasi Tiger Project-
ser T ST

Chhattisgarh

(B) AT S

(B) Nameri Tiger Project — Assam
(C) Valmiki Tiger Project - Bihar (€ ae 3 9 “

(D) Melghat Tiger Project — Maharashtra (D) BT T 93 -—
77, Which of the tb"g'].ewing tworiverslies 77 fezht aig fae ¥ _:__.—___-
adjacent.w-ﬁaere Tehrt Dam has been e g o 27 ﬂ
(A) “Aldknanda and Mandakini River
ﬁ mrathl and Bhilangana River B ST 7 Ry :; '

“Fons and Nandakini River (C) H 7 Faiei a8

(A) 3TqHHT g H '""k :

15020 (Q) (22)
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hich year decision was taken to 78 feedi Effﬂ e oy g ag

ruct Tehrt Dam 2 Rrar T o ?
ol (A) 1961
o7 B) 1971
8 (C) 198]

L985 D) 1985
o how many years Tehri Dammay 79, a9 a9l g feefi g @ ﬁﬁgﬁ Jcdred
12 position to produce electricity a0 9 Mgeor g Tfﬁ: GE|

control floods on a permanent 2 7

Up to 100 years ) 100 7o T

Up to 150 years (B) 150 39t %

Up to 200 years (C)y 200 9 TF
(D) 250 T61 7%

Up to 250 years

chof the following states are largely 0. “GER qU&T G 3 59 =9 3
enefitted by the “Sardar Sarovar T 2 7

ALY
ject

(A) FAleH, THaTg, DU, IS

Karnataka, Tafiil Nadu. Kerala:

Lhmisa

(B) BRETR, IS, Er, ey FTw

Chhattisgarh, Orissa, Bihar, West
engal Or 9E WY, Werrs, TRE 9
Madhya Pradesh, Maharashtra; LELYIE]

Crujarat and Rajasthan

(D) efwen, doE, R, R
SRl

Haryana, Punjabs DelhiHimachal
Pradesh
5-15020 (Q) (23)

https://www.ccsustudy.com




81,

84,

 US-15020 (Q)

{C)

(D)

Where s the origin of Narmada River 2

(AY  Roewa Panna Plateau
(B Bhander Platcau
(O Rargarh Plateau
Gy Amarkantak Plateau

Maximum flow arca of Narmada River

hes s i the state of

(A Guyarat

(B3Y  Madhva Pradesh
(C) Maharashtra

(1) Rajasthan

Lo which of the following main reason
Medha Patkar opposes the construction

of "Sardar Sarovar Project’ ?

(A} Resettlement problem of
displaced people

(B} Ecological imbalance

{C) Destruction of forest land

(12)  Problem of earthquake

What do you understand by “Population
Explosion’ ?

{A) Growth in population

{(B) Excess growth of population
compare to resources

Excess deaths of people due o

bomb explosion

None ol the above

https://www.ccsustudy.com

(24)

81, T T B Y e ¥ 7

& I 98

2T T
(C) THT€e 931t
(D) FAIHTH TR

82, wTHE A @ TEH IfiE gaE A7 fae
T B AT AR 7
(A)
(B
()

(A)
(B)

(D)
83 T MEHT F CTEN qUAT
F [ 1 oF g o ?

(A foenital & gFars @t wmen
(B) AT e
AOY FT W F faea

(D) g% FH gEE
84 STEE fawhre ¥ oMY Far gy
N SEEE H ghe
(13) HawEEl 6 ogen §
Ty gha 8
() e 3 reer A B

-
(D) I § Fg @



ol the following reasons 85 Ff=Ha “SeET faeere’ H B~

ble tor “Populatioin Explosion®? B e ?
nprovement in education I forem § =&rad
owth inagricultural production 2 ?ﬁ ST H ?F' S

niversal marriage

3. 9EEm e

4. afEE

o) EE\E.

‘ (A) 1,23
4 (B) 1.3.,4
3, 4 (C) 2.3.4

yand 4 Uy 3d4

1 of the following measures are  86. SHEEAl Q@ H T ?ﬂ HH-H I
v elfective to control population iy @l 2 7

h? 1. faEme & oong 7 9fE

2. Sl e

3. g g & A

4. T F ogErR

EE{ :

acrease in age of marriage
idustrial development
evelopment of Social Security

read of education

(A) 1,2.3
B) 2.3,4
ey 1.3,4
v and 4 D) 1,2.394

“ necessary in third stage of 87. @ G %T\-! ST a 3
curity % ?

rimum quantity of grains (AT S 3 =y i =T
lability of milk along with B) I, T E— 7 S
s and pulses (C) TS 2 g aw A R
fleient quantity of pulses along s
Lrains

(D) o, T@ 3 9%, #leqar g
o]

cvetables and fruits along with

rams

515020 (Q) (25)
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88 Which of the following are larcely food 88, T AR § BE-8 T Haif
msecure states inrural India ? aq-g—{fﬁa T & ?

(A) Bihar, Jharkhand and Madhva

Pradesh X faerr, AEYE 9 e gy

(B) West Bengal, Rajasthan and
(13)  UfIET FE, TR g eigg |

Chhattisgarh

(C) Tamil Nadu., Karnataka and
Maharashtra () S 9 "
(D) Punjab. Kerala and Himachal .
() e, B q REEe mew
Pradesh
According to “Rangarajan Commuittec™ 89 G HHE %an'ﬂﬂ', e &

89.
which of the following is considered i o fpw gftar (Elﬁl At @if) F

below poverty line (pcr-capita THA Y|y § A JE A e
expenditure) in India’s urb cas 7
: Jinndia s uban ares (A) S oot 17 B A
A) Whose daily expendit is | -
(A) ¢ daily expenditure 1s less E‘_\r
than 17 Rupees
‘ o @) S gfafReT 27 598 @ #H
(B)  Whose daily expenditure is less 3
than 27 Rupees
(Y Whose daily expenditure is lcss (©) i 37 FW R FA
than 37 Rupees BT T
(D) Whose daily expenditure is less (D) S OfaRs 47 w04 ¥ HH
A 2l

than 47 Rupees

What is India’s rank in tcrms of "Food 90 ‘@z SRl Eiaﬁ'_cﬁ’ & aTE 9Id

90.
Security Index™” e (%5) d 37
(A) 60 (A) 60
(By 74 ) 74
() (C) 84
(1) 96 D) 90

US-15020 (Q) (26)
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o, B hich of
sponsible
v €O .
25 NO,
() COy

) CFC's i
o D) FIRIFIY e
2. v Fofwr § oo AR §

92 (ilobal warn

Increase t: S

% -

(A) 1,2,3
@ 1,24
(C) 2,3,4
(D) 1,2.3,4

largely 93. frtifea & @ S9-a1 2 EACE] IE-

HNIFARE B IO & qo a1 A
e ?

Ay 9
@Y HgE Y i
(C) 9

- O AT |
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94.

93.

96.

97.

US-15020 (Q)

In-situ conservation means -

(A) Protection of species in the habitat

of other animals

(B} Preservation and protection of

species 1n their natural and as well

as outside habitat

(¢ Preservation and protection of

specics outside of their natural

habitat

(D) Prservation and protection of
species in their natural habitat

What percentage of world’s living

species are found in India ?

(A) 5.1%

(By 7.3%

(C) 8.2%

{D) %.1%

Which of the following 1s put under

‘Endangered Species’ ?

(A)

(B)

(<)

(D)

When Biodiversity Act was inacted in

Dinosaur
Golden Cat
Lion

Golden Langur

Indian Parliament ?
(A) 1992
(B) 1999
(Cy 2002
(D) 2005

94.

95.

96.

4B)

z3-frg g & aed € |
T § A AHT PO B
gt & A @ grE 3
T A g AT @ STE B
AT 2

gAfedt & @O 4 ge I
J @ F g @ AE A
S 2

oo # AT 4 G 3
w2 B S e
9 39 ° e # Fpae wider Siifam
sfqar & §

(A) 5.1%

By 7.3%

(C) 82%

D) 9.1%

et A 8 e g%em= gl |
W@ e ?

(A) SRR

B) gl e

(C) F&T W
D) YTRT aR

()

(D)

!

k3
»

4

(A) wﬁﬁﬁw@%mﬁﬁ%

97. SfefEa fies wmEm dae @ aa

(28)

T e a2
(A) 1992
B) 1999
(C) 2002
(D) 2005
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L

Gy

100).

US-15020 (Q)

D)

-Gustainable deveIOpmem' talks about

levelopment of

v Present  as  wel) as  future

population

It
&

Present population
(0"} Past population

(D) Future population

Sustainable development definition
mostly quoted in :

(A) Banerjee’s report

(B)  Brundtland report

(C) Gadgil report

(D) Hutchinson’s report

Sustainable development goals adopted
by United Nations in 2015 does not
include :

(A) Poverty
(B)  Chmate change
{ j

Environmental degradation

lerrorism

98.

99.

100.

(29)

T R e e o e el
g7

A TR T ST S

(B) AN SrEEm

(C) i ¥ sHgen

(D) Pt SEE

Fr & ] fre RO & wag faera @
U g R T ?

(Ay son Rard

(B) sedve R

(C) R Rard

(D) &g R

= & 8 dgw o am 2015 H

YT T Hoq [ W B ot

BT TE o R ?
(A) TOR

(B) Sfwary YR
(C) TR F &

(D) 3fdFHAR
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4. Four altervative answers zre mentioned
for each question as-A, B, C & D in the
booklet. The candidate has to choose the
most correct/appropriate  answer and
mark the same in the OMR Answer-Sheet
as per the direction :

Example:

Question

wW® ® © 0
a@rld e 0
eI®'® © O

[llegibie answers with cutting and over-writing or
nalffilled circle will be cancelled.

5.

10.

1t

In case the candidate does not fill the
appropriate circle in the OMR Answer-
Sheet and leave blank ‘Zere’ mark will be
given,

The candidate has to mark answers on the
OMR Answer-Sheet with black or blue
ball point pen only carefully as per
directions.

There will be no negative maiking.
Examinee, please handover the origina!
Answer-Sheet along with University
Copy to the invigilator before leaving the
exaniinztion hall. Candidate can carry the
Candidates Copy and used Question
Booklet with him. (Stud=ut is supposed to
keep Question Booklet and OMR safe till
declaration of results.)

Rough-work, if any, should be done on
the blank page provided for the purpose at
the end of booklet.

Write your Roll Number and other required
details in the space provided on the titie
page of the booklet and on the OMR
Answer-Sheet with ball pomt pen. Do not
use lead perceil,

To bring and use of log-hosk, calculator,

pager & cellular phone in examination
hall is prohibited.
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4. gE-giEe ¥ 9% W P 9X @l
A, B, Cwd D ¥ qfendi at o7
il fagedt § & 0% wa9 9 orwdr §a
JUgHR AT Gew £ I A OMR
sT-die § wraftaq ued ger | e raw
A5 - :

g T

wl @ @ O ©
g2 B e O®
w3 O @ © ©

Sfaa gaT m e IEY PR e Ot aae A §, Al
T ST wOERT A T Ie] Mo & A s
5. =i qhert OMR saT-die § 9 A

7 7 7 & ol arat-de A @l et
% B, O ‘g S YA R ST

6. srepdl & 9 & I OMR FET-4E T
St AR A A T R A
FtamaTt offdd 1 811 |

7. it =i T8 2

8. ulend uw oo w AL ofy ol

o O ¥ T e Pl @ A R
Srdl g Y vl Wi o S L
R A o W § 1 (R TRt @ el
glen wRem NS 7 o ST o IR
T 1) '

9, A TE-a, neT-gfem § o 3

W5t & e e gl 9w &
S =R |

0. wA-gfcd $ 9@ 9% W g OMR
sratHe @ Pt e 3 s ad
Y AT 9w wige 9 @ & a¥
o ST R A FT | =

L ol e A-gs, degiet, o au Ao




Four alternative answers are mentioned
for each question as-A, B, C & D in the
booklei. The candidate has to choose the
most  correct/appropriate  answer and
mark the same in the OMR Answer-Sheet
as per the direction :

Example:

Question

W® @ © O
® O O

Hiegible answers with cutting and over-writing or
half fitled circle will be cancelled.

S.

10.

In case the candidate does not fill the
appropriate circle in the OMR Answer-
Sheet and leave blank *Zere’ mark wili be
given,

The candidate has to mark answers on the
OMR Answer-Sheet with black or blue
ball point pen only carcfully as per
directisas.

There will be no negative maiking,
Examinec, please handover the original
Answer-Sheet along with University
Copy to the invigilator before leaving the
exaniinztion hall. Candidate can carry the
Candidates Copy and used Question
Booklet with him. (Student is supposed to
keep Question Booklet and OMR safe till
declaration of results.)

Rough-work, if any, should be done on
the blany page provided for the purpose at
the end of booklet.

Write your Roll Number and other required
details 1 the space provided on the utie
page of the booklet and on the OMR
Answer-Sheet with ball point pen. Do not
use lead pepeil,

To bring and use of log-hosk, caleulator,
pager & cellular phone in examination
hallis prohibited.

ERUL

pe-gias d 99% oW 3 AR wRd
A, B, Cwd D ¥ qlendt &t @

ol fagedt § § oh qad 98 opEr w9l
IE I Ofe B 390 # OMR
AFIE-dirE & gatag uew gegr § e ve |
LA 5 |
i

gl ) @ © ©

ge2 A ® O
@ @ © ®

st Gt 1 % I R e 41 wmmn w 3, o
e F awrar ST AT T IR e @ Ry s

s.

0.

I
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4% et OMR RaT-die § aygam
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e I T A AT AT W A S
R ST & 21 |
friifza i 78 2

wlemdl W - T R afr od
T BT | e & frlws @ ¥ 3
STl SR T et SRy O g we-
IR T T w1 (R T A
T ST R 2 5% AR T e
T 1)

F @ -, wE-gRew 3 oova d,
-5 & fe Ry weh W w § &
ST =Y |
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